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NEE 0 0.14 0 0.14
THO 3 A 0 0.09 0 0.09
NEEEINETIN) 0 0.00 0 0.00
AL 22| 5] AF 0 0.00 0 0.00
EEE 0 0.24 0 0.24
A=0[902H (F4) Ae EERS 0 0.00 0 0.07
SO0l SE%2 0 0.19 0 0.18
TANELYS S
WA e rm 0 0.29 0 0.39
EE 0 0.47 0 0.57
=212 M 0 0.50 0 0.57
REET 0 0.14 0 0.14
EHOH B AL 0 0.38 0 0.38
EEENREED) 0 0.00 0 0.00
U BFALS 22 5] AF 0 0.00 0 0.00
=58 | 0 0.52 0 0.52
H=0[90AH (FA)CT J|EtH| 2 *? 0 0.00 0 0.07
EENITE 0 0.19 0 0.18
TAEHHE =
AU~ ~ia 0 0.29 0 0.39
EE 0 0.47 0 0.57
=22 AM 0 0.50 0 0.58
REEY 0 0.00 0 0.10
O B A 0 0.00 0 0.15
NEEEIEED) 0 0.00 0 0.00
QU BFALS 22 5] AF 0 0.00 0 0.00
EEEE 0 0.00 0 0.25
H=0[90AH1 (F4)C3 ETERS 0 0.00 0 0.18
Y] 0 0.00 0 0.15
TANEHYE =
AU~ ~ra 0 0.00 0 0.25
EE] 0 0.00 0 0.40
=202 AM 0 0.00 0 0.43
EET 2 0.14 2 0.14
THOH 3 A 2 0.13 2 0.13
EEEINGEEID) 0 0.01 0 0.01
U BFALR 22| 5] AF 0 0.01 0 0.01
EENE 4 0.27 4 0.27
H=01902H1 (F4))C4 JIEtHI & 2 0 0.00 i 0.07
EENITRE ) 3 0.19 3 0.18
TAEHHS =
AU~ ~ho 4 0.29 6 0.39
SR 7 0.47 8 0.57
EEPEL 7 0.50 8 0.58
THAF2 2 AF 0 0.14 0 0.14
EHO B A 0 0.12 0 0.12
NEEEINRERID) 0 0.01 0 0.01
QU BFALS 22 5] AF 0 0.01 0 0.01
EEE 0 0.27 0 0.27
=0[902H1 (F4])Ce JIEHHI & 2 0 0.00 0 0.07
ERNITE 0 0.19 0 0.18
TAEHOE =
AU~ ~ia 0 0.29 0 0.39
SR 1 0.47 1 0.57
=212 Al 1 0.50 1 0.58
NEE 0 0.14 0 0.14
B 0 0.00 0 0.00
EEEINGESID) 0 0.00 0 0.00
NEEEER 0 0.00 0 0.00
EEE 0 0.15 0 0.14
H=0[902H1 (FA)C-W TR 0 0.00 0 0.07
EENITE ] 0 0.19 0 0.18
TANELYS =
AHiA ~ho 0 0.29 0 0.39
SR 0 0.47 0 0.57
=212 Ml 0 0.50 0 0.57




RN 0 0.00 0 0.00
EIEN 0 0.00 0 0.00
EERNEEEINRNEERD) 0 0.00 0 0.00
QU BFAIR 22] 3] At 0 0.00 0 0.00
S5 0 0.00 0 0.00
=0[902H1 (FA)S IEFEES 0 0.00 0 0.07
O oK CHe=0H0H, EMS42 0 0.19 0 0.18
s TAEAAR S
fi]HE MHI A 2as 0 0.29 0 0.39
T 81| 0 0.47 0 0.57
EEREN 0 0.50 0 0.57
D 0 0.00 0 0.00
EIEN 0 0.00 0 0.00
T C T A 2ES| AF(AEFS T 0 0.00 0 0.00
QU BFAI2 22| 3] Ab 0 0.00 0 0.00
S5 0 0.00 0 0.00
5019021 (FA])s-P JIEFHIE =2 0 0.00 0 0.07
oo CH=0HOH, EHS2 0 0.19 0 0.18
o TARAQ2 S
ffHE MHI A 2as 0 0.29 0 0.39
T B | 0 0.47 0 0.57
Z2 el Al 0 0.50 0 0.57
* HEO| &=X}AFEOH(D|2HE &) CHHI m%% LIEFHLICY.
wx J|EFHI20/2 SIH2AAHIE, E2 S92 0lE 2 2HHIE S HEWAM ZAX BIZ2RNO2 XSE HE2O2M MHH-Ss22= M
Q&34 LICEH
* A2 0 Y SlS
LYY g gl
b EE=, HlESHI2 (St HEHAE %
2 | E2x2-H8d8A) 7] Ho-=HS+2HI8(8) 2 8t (A+B)
o - X 0| -0.0005 1.0509 1.0504
A= 0190 (F4)(28) EPl 0.0411 1.5031 1.5442
x| 1.3118 1.0618 2.3736
Al
=090 (F=4)A EPl 1.3506 1.5173 2.8679
x| 0.9483 1.0773 2.0256
=2 = Al
A= 0190XH (F40)Ae EPl 1.0189 1.5334 2.5523
x| 2.0621 1.071 3.1331
2 = Al
1= 01904+ (541)C )| 2.1284 1.5373 3.6657
x| 1.388 0.6163 2.0043
Al
1= 019011 (54)C3 EPl 1.3857 0.7946 2.1803
x| 1.0917 0.9873 2.079
=) = Al
1= 01901 (544)C4 EPl 1.1517 1.471 2.6227
x| 1.0805 0.9207 2.0012
Al
1= 019011 (541)Ce EPl 1.1228 1.3238 2.4466
x| 0.5739 0.9705 1.5444
Al —
1= 0190AH (F4)C-W )| 0.6411 1.524 2.1651
x| -0.0006 1.0916 1.091
=2 = Al
1= 0190XH (5403 )| 0.0666 1.5369 1.6035
x| -0.0006 1.0916 1.091
= = AlYQ_
A= 01901 (54)S-P )| 0.0666 1.5369 1.6035
Z=1) 844|242 (Total Expense Ratio)0|et LEE 4 S HEWAM SEots 'B24'9 'J|EHHIE SHS XA E XU (P2
2 A IE)CZ L= HISZH Y 22012 £ SXAIF 228 & E4-H 222 UEHHLICH
Z2) HOH- S22 HIS0I 2 HIH-BHEL2E =X HEEIM(B2HIE J2AE JIE)CZ UxE HISZM g 282124 &
KXEOF S22t OHOH-ZH 2209 £F2 LIEFYLICH
6. S XLAHAHDH OH LY &
P OHOHFAAE & FES (Sl ek, %)
TES e MMMEEEE
&2t EE a2t = oH EBIEL EER
820,435 38,704 818,222 40,771 191.09 3
)UHDHQIEEOIE Ho 2I(12t & HEE FADJIMO ZEH2 ) iy 22|12 = Bt =AIO| WRIIH oLl
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